
Multiplying and Dividing Integers (A)
Name: Date: Score:

Calculate each product or quotient.

−100÷10=

−121÷11=

−110÷10=

−72÷8 =

−10×12=

−12×9 =

−10×9 =

−132÷11=

−9×11=

−12×12=

−90÷10=

−110÷11=

−8×9 =

−8×10=

−10×8 =

−28÷7 =

−6×11=

−4×10=

−40÷4 =

−10×7 =

−12×8 =

−11×12=

−14÷2 =

−2×9 =

−11×2 =

−88÷11=

−8÷2 =

−6×8 =

−6÷6 =

−3×2 =

−8×12=

−1×3 =

−8×6 =

−11×7 =

−36÷6 =

−60÷5 =

−7×7 =

−12×4 =

−11×5 =

−20÷2 =

−4×3 =

−14÷7 =

−77÷11=

−32÷8 =

−5×5 =

−40÷5 =

−5÷5 =

−18÷3 =

−11×6 =

−7×4 =

−60÷6 =

−7×1 =

−12×6 =

−9×9 =

−7×10=

−48÷12=

−11÷11=

−120÷10=

−7×3 =

−24÷3 =

−99÷9 =

−7÷7 =

−9×12=

−20÷5 =

−8×2 =

−63÷7 =

−8×1 =

−6÷1 =

−88÷8 =

−10×3 =

−64÷8 =

−6×4 =

−2×6 =

−2×10=

−2÷2 =

−1×4 =

−9×6 =

−4×4 =

−33÷11=

−9×1 =

−10×5 =

−56÷8 =

−5×3 =

−10÷2 =

−45÷9 =

−20÷4 =

−11÷1 =

−8×7 =

−2÷1 =

−8÷8 =

−11×4 =

−12÷4 =

−36÷12=

−5÷1 =

−11×3 =

−15÷5 =

−27÷9 =

−7×5 =

−5×10=

−10÷1 =
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Multiplying and Dividing Integers (A) Answers
Name: Date: Score:

Calculate each product or quotient.

−100÷10= −10

−121÷11= −11

−110÷10= −11

−72÷8 = −9

−10×12=−120

−12×9 =−108

−10×9 = −90

−132÷11= −12

−9×11= −99

−12×12=−144

−90÷10= −9

−110÷11= −10

−8×9 = −72

−8×10= −80

−10×8 = −80

−28÷7 = −4

−6×11= −66

−4×10= −40

−40÷4 = −10

−10×7 = −70

−12×8 = −96

−11×12=−132

−14÷2 = −7

−2×9 = −18

−11×2 = −22

−88÷11= −8

−8÷2 = −4

−6×8 =−48

−6÷6 = −1

−3×2 = −6

−8×12=−96

−1×3 = −3

−8×6 =−48

−11×7 =−77

−36÷6 = −6

−60÷5 =−12

−7×7 =−49

−12×4 =−48

−11×5 =−55

−20÷2 =−10

−4×3 =−12

−14÷7 = −2

−77÷11= −7

−32÷8 = −4

−5×5 =−25

−40÷5 = −8

−5÷5 = −1

−18÷3 = −6

−11×6 =−66

−7×4 =−28

−60÷6 = −10

−7×1 = −7

−12×6 = −72

−9×9 = −81

−7×10= −70

−48÷12= −4

−11÷11= −1

−120÷10= −12

−7×3 = −21

−24÷3 = −8

−99÷9 = −11

−7÷7 = −1

−9×12=−108

−20÷5 = −4

−8×2 = −16

−63÷7 = −9

−8×1 = −8

−6÷1 = −6

−88÷8 = −11

−10×3 = −30

−64÷8 = −8

−6×4 = −24

−2×6 = −12

−2×10= −20

−2÷2 = −1

−1×4 = −4

−9×6 =−54

−4×4 =−16

−33÷11= −3

−9×1 = −9

−10×5 =−50

−56÷8 = −7

−5×3 =−15

−10÷2 = −5

−45÷9 = −5

−20÷4 = −5

−11÷1 =−11

−8×7 =−56

−2÷1 = −2

−8÷8 = −1

−11×4 =−44

−12÷4 = −3

−36÷12= −3

−5÷1 = −5

−11×3 =−33

−15÷5 = −3

−27÷9 = −3

−7×5 =−35

−5×10=−50

−10÷1 =−10
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Multiplying and Dividing Integers (B)
Name: Date: Score:

Calculate each product or quotient.

−144÷12=

−88÷11=

−64÷8 =

−10×11=

−132÷12=

−10×9 =

−9×9 =

−10×12=

−132÷11=

−12×10=

−11×11=

−108÷9 =

−9×8 =

−10×8 =

−88÷8 =

−7÷1 =

−5×12=

−5×3 =

−5×4 =

−4×5 =

−12×2 =

−96÷8 =

−8×7 =

−110÷10=

−2×10=

−24÷4 =

−3×4 =

−7×10=

−40÷5 =

−28÷7 =

−12÷3 =

−2÷1 =

−2×2 =

−24÷12=

−18÷2 =

−12÷6 =

−10×10=

−35÷7 =

−72÷9 =

−3×3 =

−16÷8 =

−12÷2 =

−20÷2 =

−28÷4 =

−24÷3 =

−99÷9 =

−14÷7 =

−60÷6 =

−44÷4 =

−1×11=

−10÷10=

−10÷5 =

−3×1 =

−8×10=

−5×5 =

−66÷6 =

−99÷11=

−40÷8 =

−12÷1 =

−9×12=

−72÷12=

−77÷7 =

−4×1 =

−8×12=

−84÷7 =

−1×12=

−84÷12=

−2×3 =

−90÷10=

−9×1 =

−1×1 =

−24÷8 =

−27÷9 =

−7×7 =

−7÷7 =

−22÷11=

−1×6 =

−7×2 =

−40÷4 =

−6×6 =

−48÷8 =

−4×8 =

−2×9 =

−77÷11=

−8×4 =

−2÷2 =

−10÷1 =

−3÷3 =

−55÷5 =

−66÷11=

−30÷5 =

−3×11=

−4×6 =

−10÷2 =

−10×5 =

−5×9 =

−44÷11=

−45÷5 =

−4×12=

−11×2 =
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Multiplying and Dividing Integers (B) Answers
Name: Date: Score:

Calculate each product or quotient.

−144÷12= −12

−88÷11= −8

−64÷8 = −8

−10×11=−110

−132÷12= −11

−10×9 = −90

−9×9 = −81

−10×12=−120

−132÷11= −12

−12×10=−120

−11×11=−121

−108÷9 = −12

−9×8 = −72

−10×8 = −80

−88÷8 = −11

−7÷1 = −7

−5×12= −60

−5×3 = −15

−5×4 = −20

−4×5 = −20

−12×2 = −24

−96÷8 = −12

−8×7 = −56

−110÷10= −11

−2×10= −20

−24÷4 = −6

−3×4 = −12

−7×10= −70

−40÷5 = −8

−28÷7 = −4

−12÷3 = −4

−2÷1 = −2

−2×2 = −4

−24÷12= −2

−18÷2 = −9

−12÷6 = −2

−10×10=−100

−35÷7 = −5

−72÷9 = −8

−3×3 = −9

−16÷8 = −2

−12÷2 = −6

−20÷2 = −10

−28÷4 = −7

−24÷3 = −8

−99÷9 = −11

−14÷7 = −2

−60÷6 = −10

−44÷4 = −11

−1×11= −11

−10÷10= −1

−10÷5 = −2

−3×1 = −3

−8×10= −80

−5×5 = −25

−66÷6 = −11

−99÷11= −9

−40÷8 = −5

−12÷1 = −12

−9×12=−108

−72÷12= −6

−77÷7 = −11

−4×1 = −4

−8×12= −96

−84÷7 = −12

−1×12= −12

−84÷12= −7

−2×3 = −6

−90÷10= −9

−9×1 = −9

−1×1 = −1

−24÷8 = −3

−27÷9 = −3

−7×7 = −49

−7÷7 = −1

−22÷11= −2

−1×6 = −6

−7×2 =−14

−40÷4 =−10

−6×6 =−36

−48÷8 = −6

−4×8 =−32

−2×9 =−18

−77÷11= −7

−8×4 =−32

−2÷2 = −1

−10÷1 =−10

−3÷3 = −1

−55÷5 =−11

−66÷11= −6

−30÷5 = −6

−3×11=−33

−4×6 =−24

−10÷2 = −5

−10×5 =−50

−5×9 =−45

−44÷11= −4

−45÷5 = −9

−4×12=−48

−11×2 =−22
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Multiplying and Dividing Integers (C)
Name: Date: Score:

Calculate each product or quotient.

−110÷11=

−120÷10=

−121÷11=

−8×8 =

−12×12=

−10×12=

−12×11=

−108÷9 =

−9×12=

−90÷9 =

−99÷9 =

−10×8 =

−9×8 =

−70÷7 =

−11×4 =

−24÷6 =

−9×10=

−6÷2 =

−12×5 =

−16÷8 =

−4×3 =

−132÷12=

−27÷9 =

−66÷6 =

−54÷6 =

−2×5 =

−36÷12=

−12÷12=

−3×4 =

−35÷5 =

−84÷7 =

−7×1 =

−48÷8 =

−22÷11=

−54÷9 =

−2×3 =

−3×10=

−1×9 =

−11÷1 =

−36÷4 =

−100÷10=

−77÷7 =

−12×8 =

−7×3 =

−70÷10=

−8×9 =

−12×4 =

−3×6 =

−5×7 =

−24÷4 =

−44÷11=

−6×12=

−8÷1 =

−18÷3 =

−11×10=

−9×9 =

−6×1 =

−28÷4 =

−99÷11=

−5×12=

−8×11=

−4×9 =

−45÷9 =

−8×12=

−4×10=

−18÷2 =

−48÷6 =

−6×7 =

−80÷10=

−7÷7 =

−11÷11=

−1×10=

−2÷1 =

−40÷8 =

−7×2 =

−8×3 =

−10×3 =

−88÷8 =

−1÷1 =

−8÷4 =

−6×6 =

−56÷8 =

−8÷2 =

−50÷10=

−27÷3 =

−2×10=

−60÷6 =

−10×5 =

−3×8 =

−12×3 =

−3×5 =

−84÷12=

−5×6 =

−40÷4 =

−40÷5 =

−60÷10=

−5÷1 =

−8×2 =

−2×9 =

−33÷3 =
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Multiplying and Dividing Integers (C) Answers
Name: Date: Score:

Calculate each product or quotient.

−110÷11= −10

−120÷10= −12

−121÷11= −11

−8×8 = −64

−12×12=−144

−10×12=−120

−12×11=−132

−108÷9 = −12

−9×12=−108

−90÷9 = −10

−99÷9 = −11

−10×8 = −80

−9×8 = −72

−70÷7 = −10

−11×4 = −44

−24÷6 = −4

−9×10= −90

−6÷2 = −3

−12×5 = −60

−16÷8 = −2

−4×3 = −12

−132÷12= −11

−27÷9 = −3

−66÷6 = −11

−54÷6 = −9

−2×5 =−10

−36÷12= −3

−12÷12= −1

−3×4 =−12

−35÷5 = −7

−84÷7 =−12

−7×1 = −7

−48÷8 = −6

−22÷11= −2

−54÷9 = −6

−2×3 = −6

−3×10=−30

−1×9 = −9

−11÷1 =−11

−36÷4 = −9

−100÷10=−10

−77÷7 =−11

−12×8 =−96

−7×3 =−21

−70÷10= −7

−8×9 =−72

−12×4 =−48

−3×6 =−18

−5×7 =−35

−24÷4 = −6

−44÷11= −4

−6×12= −72

−8÷1 = −8

−18÷3 = −6

−11×10=−110

−9×9 = −81

−6×1 = −6

−28÷4 = −7

−99÷11= −9

−5×12= −60

−8×11= −88

−4×9 = −36

−45÷9 = −5

−8×12= −96

−4×10= −40

−18÷2 = −9

−48÷6 = −8

−6×7 = −42

−80÷10= −8

−7÷7 = −1

−11÷11= −1

−1×10= −10

−2÷1 = −2

−40÷8 = −5

−7×2 = −14

−8×3 =−24

−10×3 =−30

−88÷8 =−11

−1÷1 = −1

−8÷4 = −2

−6×6 =−36

−56÷8 = −7

−8÷2 = −4

−50÷10= −5

−27÷3 = −9

−2×10=−20

−60÷6 =−10

−10×5 =−50

−3×8 =−24

−12×3 =−36

−3×5 =−15

−84÷12= −7

−5×6 =−30

−40÷4 =−10

−40÷5 = −8

−60÷10= −6

−5÷1 = −5

−8×2 =−16

−2×9 =−18

−33÷3 =−11
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Multiplying and Dividing Integers (D)
Name: Date: Score:

Calculate each product or quotient.

−9×12=

−110÷10=

−108÷9 =

−80÷10=

−120÷12=

−10×8 =

−90÷10=

−8×8 =

−96÷12=

−11×8 =

−90÷9 =

−144÷12=

−8×11=

−11×12=

−72÷8 =

−72÷9 =

−12×10=

−11×9 =

−10×11=

−10×10=

−1×6 =

−8×3 =

−10×1 =

−12÷4 =

−5×11=

−54÷6 =

−8×4 =

−42÷7 =

−50÷10=

−56÷7 =

−12÷2 =

−12×11=

−30÷6 =

−24÷2 =

−8×5 =

−3×9 =

−9×9 =

−12×8 =

−8×1 =

−12÷12=

−7×6 =

−12÷6 =

−8÷8 =

−9×2 =

−11×11=

−1×10=

−99÷11=

−18÷3 =

−8×6 =

−14÷2 =

−5÷1 =

−3×12=

−5×7 =

−2×11=

−6×5 =

−45÷5 =

−6÷2 =

−3×3 =

−12÷3 =

−24÷6 =

−7×10=

−15÷3 =

−16÷2 =

−48÷12=

−10÷2 =

−15÷5 =

−77÷7 =

−8÷4 =

−14÷7 =

−3×1 =

−21÷7 =

−12×5 =

−60÷12=

−4÷4 =

−48÷8 =

−11×4 =

−30÷3 =

−11×6 =

−22÷2 =

−6÷3 =

−63÷9 =

−6÷1 =

−3×6 =

−6×6 =

−9×7 =

−28÷4 =

−7×8 =

−2×9 =

−33÷11=

−44÷11=

−1×3 =

−2×12=

−4÷2 =

−27÷3 =

−5×8 =

−1×9 =

−2×1 =

−84÷7 =

−9×1 =

−4×7 =
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Multiplying and Dividing Integers (D) Answers
Name: Date: Score:

Calculate each product or quotient.

−9×12=−108

−110÷10= −11

−108÷9 = −12

−80÷10= −8

−120÷12= −10

−10×8 = −80

−90÷10= −9

−8×8 = −64

−96÷12= −8

−11×8 = −88

−90÷9 = −10

−144÷12= −12

−8×11= −88

−11×12=−132

−72÷8 = −9

−72÷9 = −8

−12×10=−120

−11×9 = −99

−10×11=−110

−10×10=−100

−1×6 = −6

−8×3 = −24

−10×1 = −10

−12÷4 = −3

−5×11= −55

−54÷6 = −9

−8×4 = −32

−42÷7 = −6

−50÷10= −5

−56÷7 = −8

−12÷2 = −6

−12×11=−132

−30÷6 = −5

−24÷2 = −12

−8×5 = −40

−3×9 = −27

−9×9 = −81

−12×8 = −96

−8×1 = −8

−12÷12= −1

−7×6 = −42

−12÷6 = −2

−8÷8 = −1

−9×2 = −18

−11×11=−121

−1×10= −10

−99÷11= −9

−18÷3 = −6

−8×6 = −48

−14÷2 = −7

−5÷1 = −5

−3×12=−36

−5×7 =−35

−2×11=−22

−6×5 =−30

−45÷5 = −9

−6÷2 = −3

−3×3 = −9

−12÷3 = −4

−24÷6 = −4

−7×10=−70

−15÷3 = −5

−16÷2 = −8

−48÷12= −4

−10÷2 = −5

−15÷5 = −3

−77÷7 =−11

−8÷4 = −2

−14÷7 = −2

−3×1 = −3

−21÷7 = −3

−12×5 =−60

−60÷12= −5

−4÷4 = −1

−48÷8 = −6

−11×4 =−44

−30÷3 =−10

−11×6 =−66

−22÷2 =−11

−6÷3 = −2

−63÷9 = −7

−6÷1 = −6

−3×6 =−18

−6×6 =−36

−9×7 =−63

−28÷4 = −7

−7×8 =−56

−2×9 =−18

−33÷11= −3

−44÷11= −4

−1×3 = −3

−2×12=−24

−4÷2 = −2

−27÷3 = −9

−5×8 =−40

−1×9 = −9

−2×1 = −2

−84÷7 =−12

−9×1 = −9

−4×7 =−28
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Multiplying and Dividing Integers (E)
Name: Date: Score:

Calculate each product or quotient.

−10×12=

−8×12=

−8×11=

−9×10=

−132÷12=

−88÷8 =

−12×9 =

−12×11=

−120÷10=

−110÷11=

−9×9 =

−12×8 =

−144÷12=

−9×8 =

−99÷11=

−8×10=

−7×9 =

−1×3 =

−30÷3 =

−7×10=

−6×12=

−9÷1 =

−35÷7 =

−11×5 =

−5×6 =

−55÷11=

−30÷5 =

−3×7 =

−22÷2 =

−4×7 =

−90÷9 =

−6×6 =

−4×9 =

−80÷8 =

−99÷9 =

−54÷6 =

−10×10=

−33÷3 =

−110÷10=

−121÷11=

−3×1 =

−33÷11=

−9×5 =

−12÷12=

−77÷11=

−40÷4 =

−40÷10=

−3×10=

−56÷8 =

−2×9 =

−77÷7 =

−64÷8 =

−1×8 =

−3×9 =

−9×12=

−20÷5 =

−6×1 =

−10÷10=

−9×2 =

−5÷1 =

−2×8 =

−10÷1 =

−8×1 =

−48÷6 =

−5÷5 =

−8×2 =

−60÷12=

−12×1 =

−5×9 =

−2×12=

−7×6 =

−8×9 =

−24÷3 =

−66÷6 =

−16÷4 =

−20÷2 =

−12×2 =

−4÷2 =

−60÷6 =

−1×6 =

−3×8 =

−12×7 =

−40÷8 =

−5×4 =

−7×3 =

−44÷4 =

−18÷6 =

−9×3 =

−5×10=

−10×7 =

−7÷1 =

−2×10=

−12×5 =

−9×7 =

−18÷3 =

−36÷3 =

−22÷11=

−7×7 =

−2×4 =

−1×7 =
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Multiplying and Dividing Integers (E) Answers
Name: Date: Score:

Calculate each product or quotient.

−10×12=−120

−8×12= −96

−8×11= −88

−9×10= −90

−132÷12= −11

−88÷8 = −11

−12×9 =−108

−12×11=−132

−120÷10= −12

−110÷11= −10

−9×9 = −81

−12×8 = −96

−144÷12= −12

−9×8 = −72

−99÷11= −9

−8×10= −80

−7×9 = −63

−1×3 = −3

−30÷3 = −10

−7×10= −70

−6×12= −72

−9÷1 = −9

−35÷7 = −5

−11×5 = −55

−5×6 = −30

−55÷11= −5

−30÷5 = −6

−3×7 = −21

−22÷2 = −11

−4×7 = −28

−90÷9 = −10

−6×6 = −36

−4×9 = −36

−80÷8 = −10

−99÷9 = −11

−54÷6 = −9

−10×10=−100

−33÷3 = −11

−110÷10= −11

−121÷11= −11

−3×1 = −3

−33÷11= −3

−9×5 = −45

−12÷12= −1

−77÷11= −7

−40÷4 = −10

−40÷10= −4

−3×10= −30

−56÷8 = −7

−2×9 = −18

−77÷7 = −11

−64÷8 = −8

−1×8 = −8

−3×9 = −27

−9×12=−108

−20÷5 = −4

−6×1 = −6

−10÷10= −1

−9×2 = −18

−5÷1 = −5

−2×8 = −16

−10÷1 = −10

−8×1 = −8

−48÷6 = −8

−5÷5 = −1

−8×2 = −16

−60÷12= −5

−12×1 = −12

−5×9 = −45

−2×12= −24

−7×6 = −42

−8×9 = −72

−24÷3 = −8

−66÷6 = −11

−16÷4 = −4

−20÷2 =−10

−12×2 =−24

−4÷2 = −2

−60÷6 =−10

−1×6 = −6

−3×8 =−24

−12×7 =−84

−40÷8 = −5

−5×4 =−20

−7×3 =−21

−44÷4 =−11

−18÷6 = −3

−9×3 =−27

−5×10=−50

−10×7 =−70

−7÷1 = −7

−2×10=−20

−12×5 =−60

−9×7 =−63

−18÷3 = −6

−36÷3 =−12

−22÷11= −2

−7×7 =−49

−2×4 = −8

−1×7 = −7
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Multiplying and Dividing Integers (F)
Name: Date: Score:

Calculate each product or quotient.

−10×8 =

−99÷11=

−12×10=

−12×8 =

−72÷8 =

−12×11=

−11×8 =

−108÷12=

−10×10=

−8×12=

−12×12=

−10×9 =

−11×11=

−99÷9 =

−80÷10=

−8×11=

−10×12=

−8×6 =

−10×3 =

−10÷1 =

−9×9 =

−5×4 =

−24÷4 =

−3×2 =

−12×9 =

−3×4 =

−9×7 =

−44÷4 =

−7×10=

−10×6 =

−6×6 =

−9×10=

−11÷11=

−27÷9 =

−110÷10=

−1×7 =

−2×5 =

−4×8 =

−2×6 =

−5×6 =

−48÷8 =

−2×9 =

−40÷5 =

−10×11=

−5×10=

−18÷6 =

−3×12=

−40÷4 =

−11×12=

−8×9 =

−25÷5 =

−1×1 =

−6×1 =

−5×9 =

−50÷5 =

−9÷9 =

−40÷10=

−7×12=

−64÷8 =

−6×7 =

−1×2 =

−16÷8 =

−12÷3 =

−55÷11=

−66÷6 =

−12×6 =

−6×5 =

−8×4 =

−10×7 =

−7×9 =

−12÷12=

−66÷11=

−10×2 =

−24÷2 =

−3×7 =

−8×1 =

−9÷1 =

−7×4 =

−8÷8 =

−4÷4 =

−7×8 =

−60÷5 =

−3÷1 =

−3×11=

−8×3 =

−5×1 =

−54÷9 =

−9×6 =

−35÷7 =

−6×12=

−4×12=

−2×11=

−12÷2 =

−15÷5 =

−2×12=

−12×3 =

−1×3 =

−24÷6 =

−8×2 =

−12×7 =
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Multiplying and Dividing Integers (F) Answers
Name: Date: Score:

Calculate each product or quotient.

−10×8 = −80

−99÷11= −9

−12×10=−120

−12×8 = −96

−72÷8 = −9

−12×11=−132

−11×8 = −88

−108÷12= −9

−10×10=−100

−8×12= −96

−12×12=−144

−10×9 = −90

−11×11=−121

−99÷9 = −11

−80÷10= −8

−8×11= −88

−10×12=−120

−8×6 = −48

−10×3 = −30

−10÷1 = −10

−9×9 = −81

−5×4 = −20

−24÷4 = −6

−3×2 = −6

−12×9 =−108

−3×4 = −12

−9×7 = −63

−44÷4 = −11

−7×10= −70

−10×6 = −60

−6×6 = −36

−9×10= −90

−11÷11= −1

−27÷9 = −3

−110÷10= −11

−1×7 = −7

−2×5 = −10

−4×8 = −32

−2×6 = −12

−5×6 = −30

−48÷8 = −6

−2×9 = −18

−40÷5 = −8

−10×11=−110

−5×10= −50

−18÷6 = −3

−3×12= −36

−40÷4 = −10

−11×12=−132

−8×9 = −72

−25÷5 = −5

−1×1 = −1

−6×1 = −6

−5×9 =−45

−50÷5 =−10

−9÷9 = −1

−40÷10= −4

−7×12=−84

−64÷8 = −8

−6×7 =−42

−1×2 = −2

−16÷8 = −2

−12÷3 = −4

−55÷11= −5

−66÷6 =−11

−12×6 =−72

−6×5 =−30

−8×4 =−32

−10×7 =−70

−7×9 =−63

−12÷12= −1

−66÷11= −6

−10×2 =−20

−24÷2 =−12

−3×7 =−21

−8×1 = −8

−9÷1 = −9

−7×4 =−28

−8÷8 = −1

−4÷4 = −1

−7×8 =−56

−60÷5 =−12

−3÷1 = −3

−3×11=−33

−8×3 =−24

−5×1 = −5

−54÷9 = −6

−9×6 =−54

−35÷7 = −5

−6×12=−72

−4×12=−48

−2×11=−22

−12÷2 = −6

−15÷5 = −3

−2×12=−24

−12×3 =−36

−1×3 = −3

−24÷6 = −4

−8×2 =−16

−12×7 =−84
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Multiplying and Dividing Integers (G)
Name: Date: Score:

Calculate each product or quotient.

−108÷12=

−121÷11=

−132÷12=

−11×10=

−80÷10=

−144÷12=

−90÷10=

−120÷10=

−12×9 =

−9×8 =

−10×12=

−80÷8 =

−99÷11=

−10×2 =

−5÷5 =

−10×9 =

−3×3 =

−8×2 =

−4÷2 =

−18÷3 =

−4×4 =

−5×8 =

−96÷8 =

−66÷11=

−30÷5 =

−24÷2 =

−84÷12=

−5×11=

−5×9 =

−6÷1 =

−54÷9 =

−50÷5 =

−2×8 =

−110÷11=

−72÷9 =

−1×11=

−28÷4 =

−4×8 =

−8×3 =

−11×3 =

−5×1 =

−3×12=

−11×8 =

−10×7 =

−11×7 =

−2÷2 =

−10×10=

−6×6 =

−132÷11=

−63÷9 =

−9÷1 =

−9×9 =

−28÷7 =

−30÷6 =

−11×9 =

−54÷6 =

−8÷4 =

−8×12=

−64÷8 =

−21÷7 =

−36÷9 =

−88÷11=

−8×6 =

−3×1 =

−14÷2 =

−12×4 =

−60÷5 =

−4×2 =

−1×9 =

−2×5 =

−60÷6 =

−10×1 =

−1×3 =

−40÷5 =

−5×10=

−9×7 =

−2×11=

−7×7 =

−42÷7 =

−15÷5 =

−6÷6 =

−7×1 =

−30÷3 =

−1×4 =

−11×6 =

−72÷6 =

−56÷7 =

−12÷12=

−2×3 =

−45÷5 =

−2×12=

−4×1 =

−77÷11=

−6×8 =

−24÷6 =

−5×3 =

−20÷4 =

−32÷4 =

−30÷10=

−84÷7 =
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Multiplying and Dividing Integers (G) Answers
Name: Date: Score:

Calculate each product or quotient.

−108÷12= −9

−121÷11= −11

−132÷12= −11

−11×10=−110

−80÷10= −8

−144÷12= −12

−90÷10= −9

−120÷10= −12

−12×9 =−108

−9×8 = −72

−10×12=−120

−80÷8 = −10

−99÷11= −9

−10×2 = −20

−5÷5 = −1

−10×9 = −90

−3×3 = −9

−8×2 = −16

−4÷2 = −2

−18÷3 = −6

−4×4 = −16

−5×8 = −40

−96÷8 = −12

−66÷11= −6

−30÷5 = −6

−24÷2 = −12

−84÷12= −7

−5×11= −55

−5×9 = −45

−6÷1 = −6

−54÷9 = −6

−50÷5 = −10

−2×8 = −16

−110÷11= −10

−72÷9 = −8

−1×11= −11

−28÷4 = −7

−4×8 = −32

−8×3 = −24

−11×3 = −33

−5×1 = −5

−3×12= −36

−11×8 = −88

−10×7 = −70

−11×7 = −77

−2÷2 = −1

−10×10=−100

−6×6 = −36

−132÷11= −12

−63÷9 = −7

−9÷1 = −9

−9×9 =−81

−28÷7 = −4

−30÷6 = −5

−11×9 =−99

−54÷6 = −9

−8÷4 = −2

−8×12=−96

−64÷8 = −8

−21÷7 = −3

−36÷9 = −4

−88÷11= −8

−8×6 =−48

−3×1 = −3

−14÷2 = −7

−12×4 =−48

−60÷5 =−12

−4×2 = −8

−1×9 = −9

−2×5 =−10

−60÷6 =−10

−10×1 =−10

−1×3 = −3

−40÷5 = −8

−5×10=−50

−9×7 =−63

−2×11=−22

−7×7 =−49

−42÷7 = −6

−15÷5 = −3

−6÷6 = −1

−7×1 = −7

−30÷3 =−10

−1×4 = −4

−11×6 =−66

−72÷6 =−12

−56÷7 = −8

−12÷12= −1

−2×3 = −6

−45÷5 = −9

−2×12=−24

−4×1 = −4

−77÷11= −7

−6×8 =−48

−24÷6 = −4

−5×3 =−15

−20÷4 = −5

−32÷4 = −8

−30÷10= −3

−84÷7 =−12
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Multiplying and Dividing Integers (H)
Name: Date: Score:

Calculate each product or quotient.

−9×12=

−110÷11=

−81÷9 =

−8×10=

−12×9 =

−12×11=

−10×10=

−99÷11=

−121÷11=

−110÷10=

−88÷8 =

−12×10=

−99÷9 =

−9×8 =

−8×12=

−11×12=

−80÷8 =

−96÷8 =

−10×12=

−63÷7 =

−144÷12=

−44÷11=

−10×3 =

−18÷3 =

−3×4 =

−66÷11=

−6÷3 =

−1×3 =

−11÷11=

−14÷7 =

−11×7 =

−11×5 =

−6×1 =

−8×5 =

−72÷9 =

−5×12=

−3×3 =

−9×10=

−1×6 =

−4×4 =

−50÷10=

−88÷11=

−6÷2 =

−3×7 =

−11×2 =

−6×5 =

−70÷10=

−20÷2 =

−6×6 =

−2×1 =

−10×9 =

−8÷4 =

−10÷1 =

−11×4 =

−24÷6 =

−30÷6 =

−36÷3 =

−8×8 =

−50÷5 =

−6×10=

−4×8 =

−4×3 =

−7÷1 =

−72÷6 =

−35÷7 =

−7×4 =

−9×4 =

−9×5 =

−22÷11=

−48÷6 =

−7×3 =

−42÷6 =

−2×8 =

−1×10=

−72÷12=

−2×2 =

−4×10=

−36÷9 =

−3×10=

−12÷1 =

−9×2 =

−9÷1 =

−6×2 =

−1×1 =

−15÷5 =

−11×6 =

−1×9 =

−1×4 =

−4×5 =

−84÷7 =

−18÷9 =

−5×2 =

−60÷6 =

−14÷2 =

−24÷2 =

−8×4 =

−36÷12=

−8×1 =

−9×3 =

−1×7 =
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Multiplying and Dividing Integers (H) Answers
Name: Date: Score:

Calculate each product or quotient.

−9×12=−108

−110÷11= −10

−81÷9 = −9

−8×10= −80

−12×9 =−108

−12×11=−132

−10×10=−100

−99÷11= −9

−121÷11= −11

−110÷10= −11

−88÷8 = −11

−12×10=−120

−99÷9 = −11

−9×8 = −72

−8×12= −96

−11×12=−132

−80÷8 = −10

−96÷8 = −12

−10×12=−120

−63÷7 = −9

−144÷12= −12

−44÷11= −4

−10×3 = −30

−18÷3 = −6

−3×4 = −12

−66÷11= −6

−6÷3 = −2

−1×3 = −3

−11÷11= −1

−14÷7 = −2

−11×7 =−77

−11×5 =−55

−6×1 = −6

−8×5 =−40

−72÷9 = −8

−5×12=−60

−3×3 = −9

−9×10=−90

−1×6 = −6

−4×4 =−16

−50÷10= −5

−88÷11= −8

−6÷2 = −3

−3×7 =−21

−11×2 =−22

−6×5 =−30

−70÷10= −7

−20÷2 =−10

−6×6 =−36

−2×1 = −2

−10×9 =−90

−8÷4 = −2

−10÷1 =−10

−11×4 =−44

−24÷6 = −4

−30÷6 = −5

−36÷3 =−12

−8×8 =−64

−50÷5 =−10

−6×10=−60

−4×8 =−32

−4×3 =−12

−7÷1 = −7

−72÷6 =−12

−35÷7 = −5

−7×4 =−28

−9×4 =−36

−9×5 =−45

−22÷11= −2

−48÷6 = −8

−7×3 =−21

−42÷6 = −7

−2×8 =−16

−1×10=−10

−72÷12= −6

−2×2 = −4

−4×10=−40

−36÷9 = −4

−3×10=−30

−12÷1 =−12

−9×2 =−18

−9÷1 = −9

−6×2 =−12

−1×1 = −1

−15÷5 = −3

−11×6 =−66

−1×9 = −9

−1×4 = −4

−4×5 =−20

−84÷7 =−12

−18÷9 = −2

−5×2 =−10

−60÷6 =−10

−14÷2 = −7

−24÷2 =−12

−8×4 =−32

−36÷12= −3

−8×1 = −8

−9×3 =−27

−1×7 = −7
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Multiplying and Dividing Integers (I)
Name: Date: Score:

Calculate each product or quotient.

−8×10=

−110÷11=

−12×10=

−132÷11=

−99÷9 =

−9×11=

−88÷8 =

−96÷12=

−9×10=

−110÷10=

−100÷10=

−9×12=

−8×9 =

−64÷8 =

−88÷11=

−8÷1 =

−1×3 =

−5÷5 =

−56÷7 =

−81÷9 =

−12×9 =

−24÷8 =

−1×11=

−14÷7 =

−30÷5 =

−4×9 =

−63÷9 =

−120÷12=

−2×3 =

−12×7 =

−1×1 =

−16÷8 =

−60÷6 =

−49÷7 =

−6÷1 =

−27÷9 =

−54÷9 =

−36÷4 =

−30÷10=

−5×7 =

−4÷1 =

−72÷8 =

−3×1 =

−11×5 =

−2×5 =

−132÷12=

−12×3 =

−10×8 =

−121÷11=

−24÷6 =

−48÷6 =

−4×10=

−20÷5 =

−4×7 =

−10×9 =

−5×1 =

−35÷5 =

−12×8 =

−2×1 =

−33÷11=

−1×6 =

−12×12=

−28÷4 =

−24÷3 =

−18÷9 =

−12÷12=

−54÷6 =

−3×2 =

−3×7 =

−84÷12=

−45÷9 =

−11×4 =

−72÷6 =

−3×12=

−1×7 =

−20÷4 =

−7×2 =

−11×6 =

−2×11=

−5×8 =

−48÷8 =

−4×12=

−9×1 =

−12÷1 =

−6×11=

−10×5 =

−18÷3 =

−21÷3 =

−18÷2 =

−10÷2 =

−24÷4 =

−12÷6 =

−24÷2 =

−27÷3 =

−5×5 =

−2×2 =

−45÷5 =

−11×3 =

−8×2 =

−22÷2 =
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Multiplying and Dividing Integers (I) Answers
Name: Date: Score:

Calculate each product or quotient.

−8×10= −80

−110÷11= −10

−12×10=−120

−132÷11= −12

−99÷9 = −11

−9×11= −99

−88÷8 = −11

−96÷12= −8

−9×10= −90

−110÷10= −11

−100÷10= −10

−9×12=−108

−8×9 = −72

−64÷8 = −8

−88÷11= −8

−8÷1 = −8

−1×3 = −3

−5÷5 = −1

−56÷7 = −8

−81÷9 = −9

−12×9 =−108

−24÷8 = −3

−1×11= −11

−14÷7 = −2

−30÷5 = −6

−4×9 =−36

−63÷9 = −7

−120÷12=−10

−2×3 = −6

−12×7 =−84

−1×1 = −1

−16÷8 = −2

−60÷6 =−10

−49÷7 = −7

−6÷1 = −6

−27÷9 = −3

−54÷9 = −6

−36÷4 = −9

−30÷10= −3

−5×7 =−35

−4÷1 = −4

−72÷8 = −9

−3×1 = −3

−11×5 =−55

−2×5 =−10

−132÷12=−11

−12×3 =−36

−10×8 =−80

−121÷11=−11

−24÷6 = −4

−48÷6 = −8

−4×10= −40

−20÷5 = −4

−4×7 = −28

−10×9 = −90

−5×1 = −5

−35÷5 = −7

−12×8 = −96

−2×1 = −2

−33÷11= −3

−1×6 = −6

−12×12=−144

−28÷4 = −7

−24÷3 = −8

−18÷9 = −2

−12÷12= −1

−54÷6 = −9

−3×2 = −6

−3×7 = −21

−84÷12= −7

−45÷9 = −5

−11×4 = −44

−72÷6 = −12

−3×12= −36

−1×7 = −7

−20÷4 = −5

−7×2 =−14

−11×6 =−66

−2×11=−22

−5×8 =−40

−48÷8 = −6

−4×12=−48

−9×1 = −9

−12÷1 =−12

−6×11=−66

−10×5 =−50

−18÷3 = −6

−21÷3 = −7

−18÷2 = −9

−10÷2 = −5

−24÷4 = −6

−12÷6 = −2

−24÷2 =−12

−27÷3 = −9

−5×5 =−25

−2×2 = −4

−45÷5 = −9

−11×3 =−33

−8×2 =−16

−22÷2 =−11
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Multiplying and Dividing Integers (J)
Name: Date: Score:

Calculate each product or quotient.

−10×8 =

−11×10=

−9×12=

−90÷10=

−10×11=

−8×12=

−9×8 =

−8×8 =

−10×10=

−132÷12=

−10×9 =

−72÷9 =

−12×10=

−121÷11=

−11×8 =

−9×9 =

−3×3 =

−8×11=

−80÷10=

−5÷1 =

−4×9 =

−5×10=

−11÷1 =

−144÷12=

−5×4 =

−8÷2 =

−6÷6 =

−12×1 =

−72÷6 =

−42÷6 =

−36÷12=

−96÷8 =

−7×12=

−10÷10=

−7×2 =

−2×9 =

−9×11=

−5×2 =

−132÷11=

−54÷9 =

−18÷6 =

−3×10=

−8×1 =

−63÷7 =

−55÷11=

−36÷3 =

−8×6 =

−10×12=

−24÷6 =

−30÷6 =

−12×9 =

−6×8 =

−7×8 =

−20÷5 =

−2×10=

−16÷2 =

−16÷8 =

−8×4 =

−12×7 =

−1×2 =

−8×7 =

−12×2 =

−33÷3 =

−7÷7 =

−66÷6 =

−11×4 =

−22÷11=

−66÷11=

−5×3 =

−1÷1 =

−4÷2 =

−24÷3 =

−4×3 =

−11×9 =

−6÷1 =

−10÷1 =

−6×7 =

−5×7 =

−70÷7 =

−25÷5 =

−6×2 =

−6×12=

−12÷12=

−12×4 =

−4×1 =

−60÷10=

−11×7 =

−7×11=

−6×6 =

−30÷5 =

−60÷6 =

−7×10=

−3×5 =

−7×4 =

−21÷3 =

−1×11=

−9×3 =

−1×5 =

−14÷7 =

−4×10=
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Multiplying and Dividing Integers (J) Answers
Name: Date: Score:

Calculate each product or quotient.

−10×8 = −80

−11×10=−110

−9×12=−108

−90÷10= −9

−10×11=−110

−8×12= −96

−9×8 = −72

−8×8 = −64

−10×10=−100

−132÷12= −11

−10×9 = −90

−72÷9 = −8

−12×10=−120

−121÷11= −11

−11×8 = −88

−9×9 = −81

−3×3 = −9

−8×11= −88

−80÷10= −8

−5÷1 = −5

−4×9 = −36

−5×10= −50

−11÷1 = −11

−144÷12= −12

−5×4 = −20

−8÷2 = −4

−6÷6 = −1

−12×1 = −12

−72÷6 = −12

−42÷6 = −7

−36÷12= −3

−96÷8 = −12

−7×12= −84

−10÷10= −1

−7×2 = −14

−2×9 = −18

−9×11= −99

−5×2 = −10

−132÷11= −12

−54÷9 = −6

−18÷6 = −3

−3×10= −30

−8×1 = −8

−63÷7 = −9

−55÷11= −5

−36÷3 = −12

−8×6 = −48

−10×12=−120

−24÷6 = −4

−30÷6 = −5

−12×9 =−108

−6×8 = −48

−7×8 = −56

−20÷5 = −4

−2×10= −20

−16÷2 = −8

−16÷8 = −2

−8×4 = −32

−12×7 = −84

−1×2 = −2

−8×7 = −56

−12×2 = −24

−33÷3 = −11

−7÷7 = −1

−66÷6 = −11

−11×4 = −44

−22÷11= −2

−66÷11= −6

−5×3 = −15

−1÷1 = −1

−4÷2 = −2

−24÷3 = −8

−4×3 = −12

−11×9 = −99

−6÷1 = −6

−10÷1 =−10

−6×7 =−42

−5×7 =−35

−70÷7 =−10

−25÷5 = −5

−6×2 =−12

−6×12=−72

−12÷12= −1

−12×4 =−48

−4×1 = −4

−60÷10= −6

−11×7 =−77

−7×11=−77

−6×6 =−36

−30÷5 = −6

−60÷6 =−10

−7×10=−70

−3×5 =−15

−7×4 =−28

−21÷3 = −7

−1×11=−11

−9×3 =−27

−1×5 = −5

−14÷7 = −2

−4×10=−40

Math-Drills.com


	studentA: 
	dateA: 
	scoreA: 
	A1: 
	A2: 
	A3: 
	A4: 
	A5: 
	A6: 
	A7: 
	A8: 
	A9: 
	A10: 
	A11: 
	A12: 
	A13: 
	A14: 
	A15: 
	A16: 
	A17: 
	A18: 
	A19: 
	A20: 
	A21: 
	A22: 
	A23: 
	A24: 
	A25: 
	A26: 
	A27: 
	A28: 
	A29: 
	A30: 
	A31: 
	A32: 
	A33: 
	A34: 
	A35: 
	A36: 
	A37: 
	A38: 
	A39: 
	A40: 
	A41: 
	A42: 
	A43: 
	A44: 
	A45: 
	A46: 
	A47: 
	A48: 
	A49: 
	A50: 
	A51: 
	A52: 
	A53: 
	A54: 
	A55: 
	A56: 
	A57: 
	A58: 
	A59: 
	A60: 
	A61: 
	A62: 
	A63: 
	A64: 
	A65: 
	A66: 
	A67: 
	A68: 
	A69: 
	A70: 
	A71: 
	A72: 
	A73: 
	A74: 
	A75: 
	A76: 
	A77: 
	A78: 
	A79: 
	A80: 
	A81: 
	A82: 
	A83: 
	A84: 
	A85: 
	A86: 
	A87: 
	A88: 
	A89: 
	A90: 
	A91: 
	A92: 
	A93: 
	A94: 
	A95: 
	A96: 
	A97: 
	A98: 
	A99: 
	A100: 
	studentAA: 
	dateAA: 
	scoreAA: 
	studentB: 
	dateB: 
	scoreB: 
	B1: 
	B2: 
	B3: 
	B4: 
	B5: 
	B6: 
	B7: 
	B8: 
	B9: 
	B10: 
	B11: 
	B12: 
	B13: 
	B14: 
	B15: 
	B16: 
	B17: 
	B18: 
	B19: 
	B20: 
	B21: 
	B22: 
	B23: 
	B24: 
	B25: 
	B26: 
	B27: 
	B28: 
	B29: 
	B30: 
	B31: 
	B32: 
	B33: 
	B34: 
	B35: 
	B36: 
	B37: 
	B38: 
	B39: 
	B40: 
	B41: 
	B42: 
	B43: 
	B44: 
	B45: 
	B46: 
	B47: 
	B48: 
	B49: 
	B50: 
	B51: 
	B52: 
	B53: 
	B54: 
	B55: 
	B56: 
	B57: 
	B58: 
	B59: 
	B60: 
	B61: 
	B62: 
	B63: 
	B64: 
	B65: 
	B66: 
	B67: 
	B68: 
	B69: 
	B70: 
	B71: 
	B72: 
	B73: 
	B74: 
	B75: 
	B76: 
	B77: 
	B78: 
	B79: 
	B80: 
	B81: 
	B82: 
	B83: 
	B84: 
	B85: 
	B86: 
	B87: 
	B88: 
	B89: 
	B90: 
	B91: 
	B92: 
	B93: 
	B94: 
	B95: 
	B96: 
	B97: 
	B98: 
	B99: 
	B100: 
	studentBB: 
	dateBB: 
	scoreBB: 
	studentC: 
	dateC: 
	scoreC: 
	C1: 
	C2: 
	C3: 
	C4: 
	C5: 
	C6: 
	C7: 
	C8: 
	C9: 
	C10: 
	C11: 
	C12: 
	C13: 
	C14: 
	C15: 
	C16: 
	C17: 
	C18: 
	C19: 
	C20: 
	C21: 
	C22: 
	C23: 
	C24: 
	C25: 
	C26: 
	C27: 
	C28: 
	C29: 
	C30: 
	C31: 
	C32: 
	C33: 
	C34: 
	C35: 
	C36: 
	C37: 
	C38: 
	C39: 
	C40: 
	C41: 
	C42: 
	C43: 
	C44: 
	C45: 
	C46: 
	C47: 
	C48: 
	C49: 
	C50: 
	C51: 
	C52: 
	C53: 
	C54: 
	C55: 
	C56: 
	C57: 
	C58: 
	C59: 
	C60: 
	C61: 
	C62: 
	C63: 
	C64: 
	C65: 
	C66: 
	C67: 
	C68: 
	C69: 
	C70: 
	C71: 
	C72: 
	C73: 
	C74: 
	C75: 
	C76: 
	C77: 
	C78: 
	C79: 
	C80: 
	C81: 
	C82: 
	C83: 
	C84: 
	C85: 
	C86: 
	C87: 
	C88: 
	C89: 
	C90: 
	C91: 
	C92: 
	C93: 
	C94: 
	C95: 
	C96: 
	C97: 
	C98: 
	C99: 
	C100: 
	studentCC: 
	dateCC: 
	scoreCC: 
	studentD: 
	dateD: 
	scoreD: 
	D1: 
	D2: 
	D3: 
	D4: 
	D5: 
	D6: 
	D7: 
	D8: 
	D9: 
	D10: 
	D11: 
	D12: 
	D13: 
	D14: 
	D15: 
	D16: 
	D17: 
	D18: 
	D19: 
	D20: 
	D21: 
	D22: 
	D23: 
	D24: 
	D25: 
	D26: 
	D27: 
	D28: 
	D29: 
	D30: 
	D31: 
	D32: 
	D33: 
	D34: 
	D35: 
	D36: 
	D37: 
	D38: 
	D39: 
	D40: 
	D41: 
	D42: 
	D43: 
	D44: 
	D45: 
	D46: 
	D47: 
	D48: 
	D49: 
	D50: 
	D51: 
	D52: 
	D53: 
	D54: 
	D55: 
	D56: 
	D57: 
	D58: 
	D59: 
	D60: 
	D61: 
	D62: 
	D63: 
	D64: 
	D65: 
	D66: 
	D67: 
	D68: 
	D69: 
	D70: 
	D71: 
	D72: 
	D73: 
	D74: 
	D75: 
	D76: 
	D77: 
	D78: 
	D79: 
	D80: 
	D81: 
	D82: 
	D83: 
	D84: 
	D85: 
	D86: 
	D87: 
	D88: 
	D89: 
	D90: 
	D91: 
	D92: 
	D93: 
	D94: 
	D95: 
	D96: 
	D97: 
	D98: 
	D99: 
	D100: 
	studentDD: 
	dateDD: 
	scoreDD: 
	studentE: 
	dateE: 
	scoreE: 
	E1: 
	E2: 
	E3: 
	E4: 
	E5: 
	E6: 
	E7: 
	E8: 
	E9: 
	E10: 
	E11: 
	E12: 
	E13: 
	E14: 
	E15: 
	E16: 
	E17: 
	E18: 
	E19: 
	E20: 
	E21: 
	E22: 
	E23: 
	E24: 
	E25: 
	E26: 
	E27: 
	E28: 
	E29: 
	E30: 
	E31: 
	E32: 
	E33: 
	E34: 
	E35: 
	E36: 
	E37: 
	E38: 
	E39: 
	E40: 
	E41: 
	E42: 
	E43: 
	E44: 
	E45: 
	E46: 
	E47: 
	E48: 
	E49: 
	E50: 
	E51: 
	E52: 
	E53: 
	E54: 
	E55: 
	E56: 
	E57: 
	E58: 
	E59: 
	E60: 
	E61: 
	E62: 
	E63: 
	E64: 
	E65: 
	E66: 
	E67: 
	E68: 
	E69: 
	E70: 
	E71: 
	E72: 
	E73: 
	E74: 
	E75: 
	E76: 
	E77: 
	E78: 
	E79: 
	E80: 
	E81: 
	E82: 
	E83: 
	E84: 
	E85: 
	E86: 
	E87: 
	E88: 
	E89: 
	E90: 
	E91: 
	E92: 
	E93: 
	E94: 
	E95: 
	E96: 
	E97: 
	E98: 
	E99: 
	E100: 
	studentEE: 
	dateEE: 
	scoreEE: 
	studentF: 
	dateF: 
	scoreF: 
	F1: 
	F2: 
	F3: 
	F4: 
	F5: 
	F6: 
	F7: 
	F8: 
	F9: 
	F10: 
	F11: 
	F12: 
	F13: 
	F14: 
	F15: 
	F16: 
	F17: 
	F18: 
	F19: 
	F20: 
	F21: 
	F22: 
	F23: 
	F24: 
	F25: 
	F26: 
	F27: 
	F28: 
	F29: 
	F30: 
	F31: 
	F32: 
	F33: 
	F34: 
	F35: 
	F36: 
	F37: 
	F38: 
	F39: 
	F40: 
	F41: 
	F42: 
	F43: 
	F44: 
	F45: 
	F46: 
	F47: 
	F48: 
	F49: 
	F50: 
	F51: 
	F52: 
	F53: 
	F54: 
	F55: 
	F56: 
	F57: 
	F58: 
	F59: 
	F60: 
	F61: 
	F62: 
	F63: 
	F64: 
	F65: 
	F66: 
	F67: 
	F68: 
	F69: 
	F70: 
	F71: 
	F72: 
	F73: 
	F74: 
	F75: 
	F76: 
	F77: 
	F78: 
	F79: 
	F80: 
	F81: 
	F82: 
	F83: 
	F84: 
	F85: 
	F86: 
	F87: 
	F88: 
	F89: 
	F90: 
	F91: 
	F92: 
	F93: 
	F94: 
	F95: 
	F96: 
	F97: 
	F98: 
	F99: 
	F100: 
	studentFF: 
	dateFF: 
	scoreFF: 
	studentG: 
	dateG: 
	scoreG: 
	G1: 
	G2: 
	G3: 
	G4: 
	G5: 
	G6: 
	G7: 
	G8: 
	G9: 
	G10: 
	G11: 
	G12: 
	G13: 
	G14: 
	G15: 
	G16: 
	G17: 
	G18: 
	G19: 
	G20: 
	G21: 
	G22: 
	G23: 
	G24: 
	G25: 
	G26: 
	G27: 
	G28: 
	G29: 
	G30: 
	G31: 
	G32: 
	G33: 
	G34: 
	G35: 
	G36: 
	G37: 
	G38: 
	G39: 
	G40: 
	G41: 
	G42: 
	G43: 
	G44: 
	G45: 
	G46: 
	G47: 
	G48: 
	G49: 
	G50: 
	G51: 
	G52: 
	G53: 
	G54: 
	G55: 
	G56: 
	G57: 
	G58: 
	G59: 
	G60: 
	G61: 
	G62: 
	G63: 
	G64: 
	G65: 
	G66: 
	G67: 
	G68: 
	G69: 
	G70: 
	G71: 
	G72: 
	G73: 
	G74: 
	G75: 
	G76: 
	G77: 
	G78: 
	G79: 
	G80: 
	G81: 
	G82: 
	G83: 
	G84: 
	G85: 
	G86: 
	G87: 
	G88: 
	G89: 
	G90: 
	G91: 
	G92: 
	G93: 
	G94: 
	G95: 
	G96: 
	G97: 
	G98: 
	G99: 
	G100: 
	studentGG: 
	dateGG: 
	scoreGG: 
	studentH: 
	dateH: 
	scoreH: 
	H1: 
	H2: 
	H3: 
	H4: 
	H5: 
	H6: 
	H7: 
	H8: 
	H9: 
	H10: 
	H11: 
	H12: 
	H13: 
	H14: 
	H15: 
	H16: 
	H17: 
	H18: 
	H19: 
	H20: 
	H21: 
	H22: 
	H23: 
	H24: 
	H25: 
	H26: 
	H27: 
	H28: 
	H29: 
	H30: 
	H31: 
	H32: 
	H33: 
	H34: 
	H35: 
	H36: 
	H37: 
	H38: 
	H39: 
	H40: 
	H41: 
	H42: 
	H43: 
	H44: 
	H45: 
	H46: 
	H47: 
	H48: 
	H49: 
	H50: 
	H51: 
	H52: 
	H53: 
	H54: 
	H55: 
	H56: 
	H57: 
	H58: 
	H59: 
	H60: 
	H61: 
	H62: 
	H63: 
	H64: 
	H65: 
	H66: 
	H67: 
	H68: 
	H69: 
	H70: 
	H71: 
	H72: 
	H73: 
	H74: 
	H75: 
	H76: 
	H77: 
	H78: 
	H79: 
	H80: 
	H81: 
	H82: 
	H83: 
	H84: 
	H85: 
	H86: 
	H87: 
	H88: 
	H89: 
	H90: 
	H91: 
	H92: 
	H93: 
	H94: 
	H95: 
	H96: 
	H97: 
	H98: 
	H99: 
	H100: 
	studentHH: 
	dateHH: 
	scoreHH: 
	studentI: 
	dateI: 
	scoreI: 
	I1: 
	I2: 
	I3: 
	I4: 
	I5: 
	I6: 
	I7: 
	I8: 
	I9: 
	I10: 
	I11: 
	I12: 
	I13: 
	I14: 
	I15: 
	I16: 
	I17: 
	I18: 
	I19: 
	I20: 
	I21: 
	I22: 
	I23: 
	I24: 
	I25: 
	I26: 
	I27: 
	I28: 
	I29: 
	I30: 
	I31: 
	I32: 
	I33: 
	I34: 
	I35: 
	I36: 
	I37: 
	I38: 
	I39: 
	I40: 
	I41: 
	I42: 
	I43: 
	I44: 
	I45: 
	I46: 
	I47: 
	I48: 
	I49: 
	I50: 
	I51: 
	I52: 
	I53: 
	I54: 
	I55: 
	I56: 
	I57: 
	I58: 
	I59: 
	I60: 
	I61: 
	I62: 
	I63: 
	I64: 
	I65: 
	I66: 
	I67: 
	I68: 
	I69: 
	I70: 
	I71: 
	I72: 
	I73: 
	I74: 
	I75: 
	I76: 
	I77: 
	I78: 
	I79: 
	I80: 
	I81: 
	I82: 
	I83: 
	I84: 
	I85: 
	I86: 
	I87: 
	I88: 
	I89: 
	I90: 
	I91: 
	I92: 
	I93: 
	I94: 
	I95: 
	I96: 
	I97: 
	I98: 
	I99: 
	I100: 
	studentII: 
	dateII: 
	scoreII: 
	studentJ: 
	dateJ: 
	scoreJ: 
	J1: 
	J2: 
	J3: 
	J4: 
	J5: 
	J6: 
	J7: 
	J8: 
	J9: 
	J10: 
	J11: 
	J12: 
	J13: 
	J14: 
	J15: 
	J16: 
	J17: 
	J18: 
	J19: 
	J20: 
	J21: 
	J22: 
	J23: 
	J24: 
	J25: 
	J26: 
	J27: 
	J28: 
	J29: 
	J30: 
	J31: 
	J32: 
	J33: 
	J34: 
	J35: 
	J36: 
	J37: 
	J38: 
	J39: 
	J40: 
	J41: 
	J42: 
	J43: 
	J44: 
	J45: 
	J46: 
	J47: 
	J48: 
	J49: 
	J50: 
	J51: 
	J52: 
	J53: 
	J54: 
	J55: 
	J56: 
	J57: 
	J58: 
	J59: 
	J60: 
	J61: 
	J62: 
	J63: 
	J64: 
	J65: 
	J66: 
	J67: 
	J68: 
	J69: 
	J70: 
	J71: 
	J72: 
	J73: 
	J74: 
	J75: 
	J76: 
	J77: 
	J78: 
	J79: 
	J80: 
	J81: 
	J82: 
	J83: 
	J84: 
	J85: 
	J86: 
	J87: 
	J88: 
	J89: 
	J90: 
	J91: 
	J92: 
	J93: 
	J94: 
	J95: 
	J96: 
	J97: 
	J98: 
	J99: 
	J100: 
	studentJJ: 
	dateJJ: 
	scoreJJ: 


